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22X 87,467 100,267 212,800
HEAZ M A 87,467
62,440

12,514
12,513

= N W

5|AINSSH(EX) 68,653 49,296 19,357
54,923
6,865
6,865

= Hn W

301 LEtE2AS 68,653 49,296 19,357

54,923
6,865

oW




SN
X XH .
S Tt

el

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

Al 6,865

01 At

L]
HI
0z
Q;E
oy

oo JA

68,653 49,296 19,357

68,653
54,923
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7,781
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04 JIZHMIZZ2XESE = 11,115 68,975 A57,860
S<00 HiX 11,115

3,334
7,781

= M

SOOI FQIRIXIME S20IXY A (EX) 177,840 147,916 29,924
88,920
44,460
44,460

= HnH

101 01244 177,840 147,916 29,924
88,920
44,460
44,460

= H W

04 JIZHZ2HSE= 177,840 147,916 29,924
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88,920

44,460
44,460

= H W
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21,054
10,527
10,527

= H W
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20,802
10,401
10,401

= Hn N

AseE 41,604 20,848 20,756
A Xt 41,604

20,802
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=

= Hn W

201 LEt=EH| 504 0 504
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= HnH

01 AFS22ibl 504 0 504




SN
X XH .
S Tt

el

[
2

20
B
2

OZMA=NL NI HLFL 504
= 252
= 126
Al 126
2 EAIZIZ 0N HOFAR  XI& A 30,800 30,800
= 24,640
= 3,080
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= 24,640
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Al 3,080
oldTrel(BX) 816,490 80,590
= 408,245
S 204,123
Al 204,122
101 el A4l 479,240 78,190
= 239,620
< 119,810
Al 119,810
04 JIZAtHZ2NHESE= 479,240 78,190
Okergditel 479,240
= 239,620
= 119,810
Al 119,810
201 LEt=EH| 12,400 12,400
= 6,200
= 3,100
Al 3,100
01 AtS2t2iHl 12,400 12,400
OLeXte|ZRFH =2 12,400
= 6,200
S 3,100
Al 3,100
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S 81,213
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S 81,213
Al 81,212

o
|




SN
X XH .
S Tt

el

el
x
bl
-
i
ﬁ
for
2
>
el
=
R
iz
0x
I
2
[
2
=P
R
12
o
£l
0l%
IS

LolgTtel Aty 80|12 MgeP 2HHI(EX) 32,400 32,400 0
16,200
8,100
8,100
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W
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82,875
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271,740

58,230
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18,865
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25,000
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= M = M

=z H
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8,715,307
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1,089,413

= N W
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8,715,307
1,089,413
1,089,413

= HnH

= 10,894,133 10,693,789 200,344
O=I=de2&8s=c5A d4AHAS0H 10,894,133
8,715,307

1,089,413
1,089,413

= HnH

=HSH(ER) 2,925,862 2,601,478 324,384
2,340,690
292,586
292,586

= HnH

301 LeEt2a=s 2,705,862 2,401,478 304,384
2,164,690
270,586
270,586

= H W

1= 2,705,862 2,401,478 304,384
| ZHEL2H=STH FHSO 2,705,862
2,164,690

270,586
270,586

= N W

307 2120l & 220,000 200,000 20,000

176,000
22,000
22,000

= N W

10 MaISXIEX 220,000 200,000 20,000
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HE: FOMBTE
CHelr MEPR (s &
N33 S2(3H) - MEAMY - BES Aol a4 T BlusZ
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2 364,285
01 AFBIEE=AE3 364,285 0 364,285
OJIEZNEEHLZN 2TEO 364,285
2 364,285
MASSR A (XHH) 237,270 233,380 3,890
201 Lty 1,470 1,260 210
01 At22ll 1,470 1,260 210
osd+g 1,470
—MEEHAS 2I4+Y 1,470
301 L2 A 235,800 231,120 4,680
01 ABIEE =52 235,800 231,120 4,680
ONASE =04 st 150,000
OMASFED AL BE2
5,50080%1,300% « 122 85,800
220l 9 LxTESAL TR (RHA) 12,200 9,800 2,400
301 LBrE A3 12,200 9,800 2,400
01 ABIEE =2 12,200 9,800 2,400
O#AAL X FRIH 5,600
LAY 2200 Aot 3,600
O™eia Ny 2elx 2| 3,000
HHSAPY (TN 115,025 92,867 22,158
29| 20,557 18,619 1,938
A2 (RHA) 20,557 18,619 1,938
101 QI21H| 20,557 18,619 1,938
03 RIHAZ2RE S 20,557 18,619 1,938
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01 2UHoil 61,600 51,520 10,080
O=LHoiH| 61,600
203 YR FAY| 4,200 4,200 0
04 EASYLRENY 4,200 4,200 0
ORNESgREAY| 4,200
405 XtotE S| 4,500 0 4,500
01 AL SEFSH 4,500 0 4,500
OXBHAI (104) 500
oOsMEBE (14]) 4,000
WRES (eI MEX A ) 2,119,252 3,664,520 A 1,545,268
NES P 1,311,752 1,376,330 164,578
LH=H2HXI = (XHAI) 1,311,752 1,376,330 164,578
701 JIESI AR ES 1,211,752 1,176,330 35,422
01 JIEtEl AT EZ 1,211,752 1,176,330 35,422
O2dzZ0iTEH S 1,211,752
702 JIBHES 100,000 200,000 100,000
01 JI2TES 100,000 200,000 100,000
OMASZR XHHFSD|IZ 100,000
2HNE 807,500 2,288,190 A 1,480,690
SHNS(RH) 807,500 2,288,190 A 1,480,690
802 ©HE 30| El 807,500 2,288,190 A 1,480,690
01 2NExI8a2 671,000 2,020, 190 A 1,349,190
OXHE A 250,000
OPIESEI=E 160,000
OXI 2 A8 MUl AS Xt 85,000
o2Z=x 88,000
OXZAFRCIUI0IH QA8 3,000
OMSIZSNSSAHEARSRS 12t 5,000
OZOHQ! L Xt 40,000
Ok Rtel 40,000
02 Al - SHIZZ2P a2 136,500 268,000 A 131,500
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OXISALEl MUl A S Xt 18,000
o2z=Ex 22,000
OXZARCIHIOIE 21248 1,500
Z0H QI 2 Rt2| 20,000
Okl Rtel 20,000
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